

نکته:

سارینا امیری شهبازی

الف) $\frac{x+2}{x^3-2x^2+3x-10} = \frac{1}{(x-1)(x-2)(x-5)}$

ب) $\frac{x+3}{x^3-x^2-1x-6} = \frac{1}{(x-2)(x-3)(x+1)}$

الف) $\frac{x+1}{x-\sqrt{3-2x}} = \frac{x-\sqrt{3-2x}}{x^2-\sqrt{3-2x}}$

ب) $\frac{x+2}{x-\sqrt{3x-2}} = \frac{x-\sqrt{3x-2}}{x^2-\sqrt{3x-2}}$

الف) $\frac{\sin x}{\cos x-1} = \frac{1}{\cos x+1}$

ب) $\frac{\cos x+1}{\sin x+1} = \frac{1}{\sin x+1}$

ج) $\frac{\tan x+1}{\cot x-1} = \frac{1}{\cot x-1}$

د) $\frac{\sin x+1}{\sin x-1} = \frac{1}{\sin x-1}$

الف) $x^2-2x+1 > 0 \rightarrow (x-1)(x-1) > 0$

ب) $x^2-4x+4 < 0 \rightarrow (x-2)(x-2) < 0$

ج) $x^2+4x+4 > 0 \rightarrow (x+2)(x+2) > 0$

د) $x^2-1 < 0 \rightarrow (x-1)(x+1) < 0$

$$(x-1)(x-2)$$

$$\text{الف) } \frac{x^2 - 3x + 2}{x-1} < 0$$

(a)

$$\text{ب) } \frac{x^2 - 1}{(x-1)(x-2)} > 0 \rightarrow \frac{x+1}{x-2} > 0$$

$$\text{الف) } \sqrt{\frac{x^2 - 3x + 2}{x^2 - 1}} \rightarrow \frac{x-3x+2}{x^2-1} > 0$$

$$\text{ب) } \sqrt{\frac{x^2 - 3x + 2}{x^2 - 1}} \rightarrow x^2 - 1 \neq 0 \rightarrow x^2 \neq 1 \rightarrow D_f = \mathbb{R} - \{1\}$$

(v)

$$\text{الف) } y = \log(x^2 - 3x) \rightarrow x^2 - 3x > 0 \rightarrow x(x-3) > 0$$

$$\text{ب) } y = \log|x| - 2 \rightarrow |x| > 0 \rightarrow |x| > 2 \rightarrow |x| < 1/2 \rightarrow |x| \neq 2$$

$$\text{ج) } y = \log \frac{x^2 + 2x + 1}{x-2} \rightarrow 1-x \neq 1, \frac{(x-2)(x-2)}{x-2} > 0$$

$$\text{د) } y^2 \sqrt{x^2 - 1} + \log x \rightarrow x > 0$$

(A)

$$y = \frac{x^2 - x}{x^2 + x} \rightarrow x^2 + x \neq 0 \rightarrow x(x+1) \neq 0 \rightarrow D_f = \mathbb{R} - \{0, -1\}$$

$$y = \sqrt{\frac{x-f(x)}{f(x)}} \rightarrow \frac{x-f(x)}{f(x)} > 0, f(x) \neq 0$$

(q)

$$\text{الف) } f(x)+1 \rightarrow$$

(10)

$$\text{ب) } f(x-1) \rightarrow$$

P4PCO

$$\text{ج) } f(x+1) \rightarrow$$